BOO
ASSEMBLY INSTRUCTION



Assembly bottom and upper part of sofa
with PINS M8x60, WASHERS AND NUTS M8
(6 pieces each of them, holes are under armrest)




Assemble Screw M6x30 in hole that is
above mountig bracket in backrest (2 pcs.)

In armrest, using screws M6x20, install 4 mounting brackets
(2 brackets per armrest, 2 screws per bracket)

Assemble Screw M6x30 in the upper hole
in positions like in picture (3 pcs.)




Put cover onto sofa and
fix it using hook and loop fasteners
on boottom part of furniture




Put sofa onto mechanism, ensure that
mounting brackets fit into rails in mechanism
(2 brackets on backrest and 2 on each armrest)




/

A
4 /

%H?P ..

Using 6 pcs. of UNIX Screws and washers assemble

mechanism with front panel of sofa (2 screws/washers

per 1 bracket; a total of 3 brackets)




Connect the seat pillow with the mechanism
using a zipper and put other pillows onto the sofa




